Word Problems

Money (Dollars and Cents)

I. Tessa bought a video game that cost $32.50. She paid with two $20 notes. How much change

should she receive?

Al .

2. Margaret bought some opples. She handed the shop keeper a $10 note and was given $3.40 in

change. How much did the apples cost?

3. Harry spent $15.60 on a pair of shoes and $24.80 on o hat. How much did he spend in total?

4. Toby's milkshake cost $5.90 and Timmy's cost $6.60. How much more did Timmy's milkshake

cost?

5. Denni bought a skirt for $12.30 and a jacket for $25.60. She gave the shop assistant $50 and

was given $12 10 change. Was this the correct amount of change? Show how you know.
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Word Problems Answers

Money (Dollars and Cents)

Tessa bought a video game that cost $32.50. She paid with two $20 notes. How much change

should she receive?

$7.50

Margaret bought some apples. She handed the shop keeper a $10 note and was given $3.40 in

2.
change. How much did the apples cost?

$6.60

3. Harry spent $15.60 on a pair of shoes and $24.80 on o hat. How much did he spend in total?

$40.40

4,
70 cents

Denni bought a skirt for $12.30 and a jacket for $25.60. She gove the shop assistant $50 and
was given $12 10 change. Was this the correct amount of change? Show how you know.

0.

$12.10is correct

EASYTEACHING.NET ey g



